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p (Quadratic Function - Intercepts)

Find the x-intercept and y-intercept of each quadratic function.

1) fix)=(x-5)7-64 2)  fix)==x*-10x+11
x-intercepts are x-intercepts are
y-intercept is y-intercept is
3)  flx)=—(x+6)(x+3) 4)  flx)=6x"+9%
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9) fix)=6(x+7)-6 100  Aix)=3x"-3
x-intercepts are x-intercepts are
y-intercept is y-intercept is
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p (Quadratic Function - Intercepts)

Find the x-intercept and y-intercept of each quadratic function.

1) Ax)=(3x-5)°-64 2 Alx)=--10x+11

(? o) and (-1, 0)

x-intercepts are x-intercepts are

(-11,0) and (1, 0)

y-intercept is (0,-39) y-intercept is

0,11)

3) fx)=-(x+6)(x+3) 4)  fix)=6x"+9%
3
x-intercepts are PRE VI E W ( 2’ 0) and (0, 0)
y-intercept is (0,0)
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x-intercept is www.mathworksheets4kids.com (2,0) and (4, 0)
y-intercept is (©,12) y-intercept is (0,-16)
9) Ax)=6(x+7)1-6 10)  Ax)=3x"-3
x-intercepts are (-6, 0) and (-8, 0) x-intercepts are (-1,0)and (1, 0)
y-intercept is (0, 288) y-intercept is 0, -3)
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